105 &E R 1 H (D

3 e B E
1H6H PEEERERERAD AR A H] G— 2 EE2TO9R
1H11H o H2K30kg VDAL 6HE

BE B — AR SRk —FE
SHERE ELRIE—FE
IHI9H  |[RIEZEREETERAE >k 3kg* 608, FRAH ZHH
BR—F SNE3F
1H23H  |BEEAERGERAE Y 1 ] 5 R 200 £
1A2SH | EHEEEREE 5>k 10ke*3 6]
1H20H  |EEEREEST F44M1100%H* 1246
1A2TH  |Bafs >k 2ke* 106,
1H28H  [kEERHEmE R AR =] 44K 140 55
1H29H |2 B 28 BRI SO T8
ECoES B8 AR 40 T —FE
E)=3== H>Kk30kg—Hl
1H30H  |[3ERE ek 4.25ke* 4]
g 8002 2
B2 T50mI* 63
B2 700mI* 63
$53H1000ml* 125
B Y2 7K 1500mI* 63K,
1H31H | BFEEERERARAE Bz =58




